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Tpudwlwh Uhonglikph hnupkph Uwuht hwplbnynipynii

Tpudwlmb Uhgnguikph hnupkp qnpdwnhmbmb qonéniliknipiniihg

Uephnuplp gapswnlanlyust gopbm bkmpmhg

“Fymgkh $hlvabuunjnpifunipy Swowgmptibph tunnnignuthg 010 89 521,7 84 027,1
fwéwhnpniibphi Sumuymppmbikph dunamgnuhg 020 7702,2 5194,0
Dwquuwpuljuh wwownubph hpugnithg 030

Uwypulipibiph b wy wwipwplibph hpugnithg 040

Gnpbuntulut Yupdmluynupmihg 050

Npujbu gnpéwljuy gnudwptbkph hwjwpwgpnuhg 060 7338,8 8 640,0
Snpswnbiwljuh qupomliknipintithg wyy ukphnupkp 070 326,5
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Ownwijnipiniikph dtnpphpnudikph nhiwg Y&wpnidlibp 100 (4924,4) (4 809,4)
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2pltiwlw dhgngltph Yué&wnphg bkphnupkp 200

UL s npwghl wljwnhikph Judunphg Ukphnuphp 210
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